By & F—IH(E) BEHHE) GEAHM(E) FEEEER (M)
B
[tReRERE] )BT 0 0 0 L
= sl ETHE 5 5 0 8L
[ — $EHET BT 6 6 0 TE4REL
S ORT 0 0 0 TEREL
'E T REET 0 0 0 L
AT 0 0 0 &L
ﬂ. RIFET 0 0 0 T3R5
8= 12,567 @,/ 10a
BES J\iEHE] 11 4 7 =& 12,5671/ 10a
f& 1 0 ¥ 12,567 1,/ 10a
NEd TRy I # 0 L
?&E é é FiEET 7 7 0 B
I2F 1 BT 7 7 0 TEHREL
e BT 0 L
= g 5 SKEET 0 0 0 1575
™
3 Z{ 0 EHETE 215 215 0 EREL
Ha A 3 3 0 AL
12 B=  6,592M/ 10a
% 3ﬁ1 =BT 63 59 4 2/ 5000 [/ 10a
= F5 5398/ 10a
B8 x 5= 12,567, 10a
97T o 365 354 1 ={& 5,000, 10a
-X0) T 9,960 0 10a

FEAEDEBTOEN (RREEERTE) S TVET.



